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1)
Insert the missing value.
62 __ 29 18 _ 37 51 _ 13
a) g = TR b)gs= — &5 ¢) 8 =86 +
59 _ 25 10 12 8 __ 9 74 5
d) g =8+ ¢) 39 — % 5= — 7 8) 75 =7+
57 _ 4 28 38 N 30 3
hg=" +g Dor= — o7 g = 35
2)
Insert the missing value.
20 11 3 _ 3 9 _ 19 3 __ 14
a) 35 = 35 + b= —x ¢) 93 =93 d) g =195~
1 _ 8 5 __ 4 7 _ 15
)= 1 los =+ 8) 25 = 29 —
14 6 N 14 4 21 _ 1
h) =13+ Dp= +ua  Du=st
3)
Insert the missing value.
10 5 4 3 8 _ 5
5 _ 4 17 _ 4 9 _ 3 10 _ 5
d) 5 =15+ ¢) 19 = 19+ D=+ g =1t
4 _ 2 10 _ 5 N 16 5
h)i5=" +15 =18t D=1+
4)
Insert the missing value.
11 2 22 2 1 _ 1 3 _ 17
a) = 1 b)g=7+ )8§=  ~% d) 15 =30 —
5 19 7 2 13 _ 4
¢) 93 =3 — lg= +11 g p=1t
13 11 11 1 5 __ 2
hg="+3 Du= -1  Da= *+zx
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Good Luck!
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